

کلاس ذکر A

پاسخ شماره ۱۲ تالیف

نام خانوادگی: رها موسوی مدری

۱۹۵

$$a_1 + a_r + a_p = 21, a_1 \times a_r \times a_p = 4f \rightarrow \frac{a_r}{q} \times a_r \times a_p = a_r^2 = 4f \rightarrow a_r = f$$

$$a_1 \times a_p = 19 \rightarrow a_1^2 q^2 = 19$$

$$a_1 + a_p = 19 \rightarrow a_1 + a_p q^2 = 19 \xrightarrow{a_p q^2 = \frac{19}{a_1}} a_1 + \frac{19}{a_1} = 19 \rightarrow a_1^2 - 19a_1 + 19 = 0 \rightarrow a_1 = 1 \text{ یا } 19$$

$$a_1 = 19, a_r = f \rightarrow q = \frac{1}{f} \checkmark \quad a_1 = 1, a_r = f \rightarrow q = f \text{ غلط } (q \notin \mathbb{W})$$

۵

۱

$$x^2 + f, x^2, x^2 - 2 \rightarrow f x^2 = (x^2 + f)(x^2 - 2) = x^4 + f x^2 - 2x^2 - 2f \rightarrow x^4 - 2x^2 - 2f = 0 \rightarrow (x^2 - f)(x^2 + 2) = 0$$

$$x^2 - f = 0 \rightarrow x = \pm \sqrt{f}$$

$$x = 2 \rightarrow 1, f, 2 \rightarrow q = \frac{1}{f}$$

$$x = (-2) \rightarrow 1, -f, 2 \rightarrow q = \frac{-1}{f} \text{ غلط } (q > 0)$$

۵

۲

$$S_v = 1 \left(\frac{1 - (\frac{1}{f})^v}{1 - \frac{1}{f}} \right) = \frac{12V}{\frac{1}{f}} = \frac{12V}{f} \times 1 = \frac{12V}{1}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11}, a_1 = 243$$

۵

۳

$$S_\omega = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 (1 + q + q^2 + q^3 + q^4) = 243 \times \frac{121}{11} = 2727$$

$$a_1 = 1, a_v = 4f \rightarrow a_v = a_1 + 3d = 4f \rightarrow 1 + 3d = 4f \rightarrow d = \frac{4f - 1}{3} = \frac{41}{3} = 13.66 \rightarrow a_f = 1 + 3 \left(\frac{41}{3} \right) = 52$$

$$t_1 = 1, t_v = 4f \rightarrow t_v = t_1 q^3 = 4f \rightarrow 1 \times q^3 = 4f \rightarrow q = \pm 2 \rightarrow t_f = \pm 1$$

۵

۴

$$\begin{cases} A = 320 \\ B = \pm 1 \end{cases} \Rightarrow \begin{cases} A+B = 320+1 = 321 \\ A+B = 320-1 = 319 \end{cases}$$

$$-2f, \frac{-9\omega}{f}, \dots \rightarrow d = \frac{-9\omega}{f} - (-2f) = \frac{1}{f} \rightarrow t_{101} = t_1 + 100d = -2f + \frac{100}{f} = 1$$

$$121, a_r, \dots \rightarrow a_r = a_1 q^2 = 121 q^2 = 1 \rightarrow q = \frac{1}{f}$$

۵

۵

$$a_\mu, a_\nu, a_\lambda \rightsquigarrow a_1 + r d, a_1 + r d, a_1 + \lambda d$$

$$\hookrightarrow (a_1 + r d)^r = (a_1 + r d)(a_1 + \lambda d) \rightarrow a_1^r + r d^r + \lambda a_1 d = a_1^r + r d^r + \lambda a_1 d \rightarrow r d^r + \lambda a_1 d = 0$$

$$1 d^r + a_1 d = 0 \rightarrow d(1 d + a_1) = 0 \rightarrow \boxed{d=0} \quad \swarrow \quad \searrow$$

$$1 d + a_1 = 0 \rightarrow d = \frac{-a_1}{1} = \frac{-a_1}{1}$$

$$a_r, a_f, a_\lambda \rightsquigarrow \frac{a_1 + d}{r a_1}, \frac{a_1 + r d}{f a_1}, \frac{a_1 + \lambda d}{\lambda a_1} \rightarrow q = r \rightarrow a_{1,0} = a_1 q^q = \frac{1}{f} \times r^q = \frac{1}{f} \times r^q$$

$$(a_1 + r d)^r = (a_1 + d)(a_1 + \lambda d) \rightarrow a_1 + r d^r + r a_1 d = a_1 + d + \lambda a_1 d \rightarrow r d^r - r d a_1 = 0$$

$$\rightarrow d = a_1$$

$$\rightarrow d = 0 \text{ ȧȧȧ}$$

$$r a_r, r a_f, a_f \rightsquigarrow r a_1 q, r a_1 q^r, a_1 q^r$$

$$\hookrightarrow r a_1 q^r - r a_1 q = a_1 q^r - r a_1 q^r \rightsquigarrow a_1 q(r q - r) = a_1 q(q^r - r q) \rightarrow r q - r = q^r - r q \rightarrow q^r - r q + r = 0$$

$$(q-1)(q-r) = 0 \Rightarrow q = 1 \text{ ȧȧȧ}$$

$$q = 1 \rightarrow \text{ȧȧȧ} \Rightarrow \boxed{q = r}$$

$$r, \frac{V}{f}, \dots \rightsquigarrow d = \frac{1}{f} \rightarrow a_f = r + \frac{r(-1)}{f} = \frac{\Delta}{f}, a_\lambda = r + \frac{V(-1)}{f} = \frac{1}{f}, a_{1r} = r + \frac{1r(-1)}{1f} = (-1)$$

$$\hookrightarrow a_f + K, a_\lambda + K, a_{1r} + K \rightsquigarrow \frac{\Delta}{f} + K, \frac{1}{f} + K, (-1) + K \rightarrow (\frac{1}{f} + K)^r = (\frac{\Delta}{f} + K)(K-1)$$

$$\frac{1}{1f} + K^r + \frac{K}{f} = K^r - \frac{\Delta}{f} + \frac{K}{f} \rightarrow \frac{K}{f} = \frac{-r1}{1f}$$

$$\Rightarrow K = \frac{-r1}{f} \left\{ \begin{array}{l} -f, -a, \frac{-r1}{f} \end{array} \right\} \Rightarrow \boxed{q = \frac{\Delta}{f}}$$

$$a_1, a_f, a_v, a_1 + a_f + a_v = V^r$$

$$a_1 = t_1, a_f = t_r, a_v = t_1$$

$$a_f - a_1 = \frac{a_v - a_f}{\lambda} \rightsquigarrow a_1(q^r - 1) = \frac{a_1 q^r(q^r - 1)}{\lambda} \rightarrow 1 = \frac{q^r}{\lambda} \rightarrow \underline{q = r}$$

$$a_1 + a_1 q^r + a_1 q^r = a_1(1 + q^r + q^r) = a_1(1 + \lambda + r f) = V^r a_1 = V^r \rightarrow a_1 = 1$$

$$a_1 = t_1 = 1, t_r = a_f = r^r \times 1 = \lambda \rightsquigarrow t_r - t_1 = \lambda - 1 = V$$

$$\text{ȧȧȧ } q = 1 \quad r a = v r \rightarrow a = \frac{v r}{r} \quad a q^r - a = d \rightarrow \frac{v r}{r} - \frac{v r}{r} = 0 \rightarrow d = 0$$